A
pEs 13100

[ hs —eo—woN]

SECT 0-9.0

BEAT

Cil
M BT 6300 L=36.0n

Bt
300 L=48.0m

x03)
LD BT 300 T

T e

SECT 113.0

IFFS 415

WEEHIASE ERLFGEIE

BB

#ME6FIA

w® HEES

ERTRATRE (8T




-
=10

000 GE5:

=N
FEIE=
eI oL ST

TTOVEL

Y LI=1
BiADLd—(GrEEL

SECT 0-15.0

SECT 0
-15.0

SECT 0-9.04

#)

SECT 0
-9.0

T EERH

ey

SECT 0.0 SECT OO 4

W TE:

SECT 6.0 SECT60

0

SECT 16.0 SECT 16.0

=1

XL

(Ed) WGrOLd—NGRERT

(e

TIOWES

0 I OEE

|

SECT 40.0 SECT 40.0

1

b 8l=
(FTh) $oLOLd—Ngreae

T ERNH

Ly

SECT 49.0 seerao |

W61

SECT 59.0 SECT 50.0

WET9I=1

TTOVEY

T4

7572

/1

0 TTOVES

SECT 113.0) SECT 113.0

SECT 118.0] SECT 118.0

al

SECT 121.5]

SECT 1215

T EENH

ED
(Fh) BGLOLY—NGRERE
T
wE

SECT 127.0) SECT 122.0_§

SECT 130.5

SECT 130. 51

TTOVES

(LE3EY) BEERELET
H 6% 9 0%

STORENAT HBYIHHTY

&Ly SRET




(AR

SECT 16.0
=545, 08

(AR
Fh=

SECT 0.0
6H=543. 21

FH=

BET0y oM (@) 1:04
SL=3.0(2.0)

1835 y—+J0y o (#) #A35cn, Ea>15em
Gy= 1.4
Dy

VLWL+03 _
KRR

DL=540. 000

VLWL +0.3
KEZHR

DL=540. 000

SECT 6.0
543,79
Fit=

VLWL+03
KEAHR

DL=540. 000

DL=540. 000

285av9y—bI0v K (hE) #A65em

SECT 0 -15.0
6H=541.71
Fi=

I%% TSR SBIEARTE

EES B E

HEERR #6597

7Eﬂﬂﬂ 7 3/1

# R

TR ERTRMAIRE (HEET)

DL=540. 000
—_—— VLWL+03 _
KEZHR
=)




(B &R

SECT 59.0
6H=662.37
=

DL=550. 000

SECT 49.0
G648, 42
H

VLWL +0.3

KEZHR E

DL=545. 000

SECT 40.0
GH=549. 01
Fii=

VLWL +0.3

KEZHR %

I%%

WEEHIASE ERLFGEIE

E&Es

B4 E

HEERR

FHM6FEIA

# R

= HEES 7 4/1

EL{EE

ERARATED (ABET)

=)




(C &)

SECT 121.5

DL=560. 000 B
— &

VLWL 403

KRR * \

(CHA)

SECT 118.0
=562, 41
Fi=

DL=560. 000

VLWL+03

LS F S

(CHA)

SECT 113.0
6H=561.93
Fh=

DL=560. 000

KEZHR

(CH&mm)
B

SECT 130.5

6H=563. 65
Fh=

DL=660.000
VLWL 0.3

KEZHR

(CHA

SECT 127.0

GH=562. 98
Fh=

DL=560. 000
VLWL +0.3

IFHS 475

TR ARR SBIEARTE

KEAHR

Biom

frrEAR

#M6%9A

® R

El HEHES 7 5/1

ERHRATED (ABET)

£ B




H=1:200, V=1:100

ABFT #IEEER L=31.0n BEFT #IBIER L=19.On CEA #IBER L=17.5n
BRIV U~k 12.7

5 Y HE Savyy— Savsy— B - 28X gLy Y—b L=16.9
1835 y—rTOy o 28av5y—k PR 2835 Y— TRy IH L=18.4 - 5S/MOLT 68/OLT
L=17.4 IOy o =127 03 03 03 3835 Y— IOy HH L=16.9 03
BT
9.0 9.7 - 4.7 3.5 5.5 o

37

SECT 16.0
SECT 118.0
SECT 121.5
SECT 127.0
SECT 130.5

SECT 0.0-15.0 I
SECT 40.0
SECT 49.0
SECT 59.0

SECT 0.0- 9.0
SECT 0.0
SECT 6.0

V545. 10

V543,89
V543,25

V541,82

549, 14

V542, 40

4.2,5L=4.7
=4.1
3.8,5L=4.1
3.9
5.0
0.6
7.3
=1.0
=6.8
H=6.4,5L=7.2
1=6.3, SL=1.0

4.2, 5L

4.1, 5L

7.8
6.1, 5L

=
H=

H
H=4.5, 5L
He

6. 3, 5L
He

7.0, 8L
6.5, SL:
H

-

V557. 80

DL=545. 00

h=
H

¥538. 00

DL=535. 00 0.5 TERBT L5177 2BRBT 1=12.7 DL=555. 00

2BRBWT L=18.4

555.43

IBERT L=16.9

18329 Y—rI0YIH s 25av0)—brJBOv o 3529 U—bTOYIHE s _IBRIHAVI U=k si20

Xz —k
aAvyy—tpEIayy
SKEE 1 15t/m2BlE avyy—rHEIavYy
(BEEBLLT) BEEE 1.30t/mLlt
(BIE6LLT)

EARE RC-40)

ERILHU—b z 2 HEE 10m2s

(0 ck=18N/mm2) HH bl L] WE

avsy—F  |ock=18N/m2 o ck=18N/m2 2,209
T 3.35

E]
#

IFEHS 1475

BEEFNAR EBLTAETE

Biom

#M6%9A

THEWW 7 6/17

ERBEANEE (EET)

£ B




MEAIET

$=1:100

15/4hAukET

1ERSY

i

BE

25/ AUET

HEE

1ERSY

o ck=18N/mn2

1.340

HH

9

BE

—aEE

9.07

avyu—+

o ck=18N/mn2

1.136

feHE e

1.21

58/ OIET

1ERSY

B

—REE

.73

ek

0.91

R

BE

65/hOukT

HEE

1ERSY

o ck=18N/mn2

3144

HH

E

BE

—EE

21.13

avyu—+

o ok=18N/mm2

2,963

EsER R

2.18

B

—REE

19.92

e R

2.09

M

1ERHSY

HE

i

BE

avou—h

0 ck=18N/mm2

1.218

B8

-

8.21

AekiR e

0.97

Wit T

30

A3 >9)—k (18N/mm2)

1. 17m3/10m2

avyy—+
0 ok=18N/mm2

35/ OIET

1HmSY

ik

BE

o ck=18N/mn2

1.734

— AR

1.71

R Ee

1.38

avoy—t
o ok=18N/mm2

HHE

45/ OuET

1ERHSY

ik

HE

o ck=18N/mn2

2.102

—haER

14.16

{esRs

1.64

avsu—+
o ck=18N/mm2

LB RO-40

SR RC-40

10m24 Y.

#H

i

BE

Ll

T o

HHEH RC-40

10ms Y

BE HH

avsy—+F

o ck=18N/mn

1.363

o ok=18N/mn2

i

BE

1.615 avsu—t

L

4.500

0 ck=18N/mm2

2.320

5.00 B

REWHE

RC-40, t=10cm

7.500

5.50

8.90 R

(et

$=1:30

9.80

FREHIASR ABIFETH

B o E

®HM6FIA

= 7EEHM 7 1/1

ERTRANRE (BRTT)

£ R



